AVAVAVAY, SITECH

TTTTTTTTTTTTT

TRIMBLE COMPONENT SHEETS

YOUR CONSTRUCTION TECHNOLOGY PROVIDER



SPS855 Base Station Components SITECH

55100-41 CARRYING CASE F. 58957-02 CABLE GPS ANTENNA, YELLOW

32319 ANTENNA — 900 MHz RADIO G. 56500-90 EXTERNAL 900 MHz ANTENNA KIT
44085-60 ATENNNA —410-470 MHz 56500-66 EXTERNAL 450-470 MHz ANTENNA KIT
78651-HH POWER CORD KIT H. 57167 ADAPTER - DB26 TO USB

107000-HH POWER BLOCK l. 57168 ADAPTER - DB26 TO DB9

46125-20 CABLE POWER 3M BATTERY
CLIPS

SITECH CENTRAL



SPS986/R780 Rover Components SITECH

PN: 55100-31 _—

Carrying Case
PN: 66540-10

PN: 109000-HH Antenna 900/2400 MHz

Dual Slot Charger
PN: 44085-60 (SPS986)

Antenna 410-470 MHz

PN: 192670-25-HH

Battery Li-lon PN: 123588 (R780)

Antenna 900/450 MHz

PN: 107000-HH

|
Power Supply PN: 80751-HH

Cable RCVR to USB

Il! ' « |
PN: 84690-00
SPS Quicklock

PIN- 84682

SITECH CENTRAL

PN: 44092
Tripod Adapter

D




R750 Base Station Components SITECH

PN: 101750-00
Carrying Case

PN: 123588
R750 ANTENNA

PN: GNSS-AC-USB
R750 USB-C WALL

CHARGER

PN: 46125-20
PN: 58957-02 ALLIGATOR POWER
YELLOW BASE CABLE

CABLE

SITECH CENTRAL




SPS Case Options

55100-07 — UTS Data Collector 115500- Rover/Data Collector 101750-00 — R750 w/ Zephyr Hard
Hard Case Hard Case Case

SITECH CENTRAL



TSC7 Controller Components SITECH

PN: 121340-01-HH
Screen Protector

PN: 121354-01-HH
Carrying Case

PN: 110238-00-HH
EM120 2.4Ghz Module

PN: 121320-01-HH
Battery 2-pack

PN: 121355-01-HH

Stylus with lanyard PN: 121341-01-HH

AC Adapter North America
OR

PN: 121341-00_HH
AC Adapter International

PN: 121351-01-HH OR
TSC7 Hand Strap PN: 104980-01-HH

Vehicle Adapter

PN: 121349-01-HH
Pole Bracket

SITECH CENTRAL



T7 Controller SITECH

PN:121351-01-HH PN:121354-01-HH
PN:119695-HH

Pole Bracket PN:TABT701 Hand Strap CarW‘C/"se
PN:119696-HH T7 Tablet .

Quick Release Pole Mount

\

L TTra
PN:121344-01-HH

PN:121355-03-HH .
Stylus with Lanyard o Q@ Shoulder Sling
\ {
e i N aqddn 4
b PN:121348-01-HH

External Chargers

‘.

PN:72766-00
Antenna 2.4 GHz ™~

/ \

PN:115895-HH
Screen Protector PN:121320-01-HH

SITECH CENTRAL Battery 2-Pack 7



T10 Controller Components

PN: 114110-HH
T10 Battery

PN: 114124-HH
Carrying Case

PN: 114121-HH
T10 Pole Mount

PN: 114112-HH
AC Adapter

OR

PN:114115-HH
Vehicle Power Supply

PN: 114108_HH
T10 Hand Strap

PN: 101008

Antenna 2.4 GHz
PN: 114107-HH

T10 Stylus

PN: 114109-HH
T10 Screen Protector

SITECH CENTRAL



UTS Components SITECH

PN: 72766-00
Replacement Antenna

PN: 58091001
Instrument Case

PN: SPS930 - SPS730
Universal Total Station

PN: 59701-62
MT900 Machine Target

PN: 50014012-HH

PN: MT1000-HH Panel attachment cover

MultiTrack Target

PN: 51002007-HH
Rain Cover

PN: 92670-HH | ‘ PN: 73836019-HH
7.4V Battery Car battery (croc clips)

SITECH CENTRAL



UTS Power Components- SPS1000 KIT

PN: 58386001
Carrying Case

PN: 109000-HH
Dual Slot Charger

PN: 107000-HH
Power Supply

PN: 78651-HH

Power Cable

SITECH CENTRAL

SITECH

PN: 59369-00-HH
Battery Holder

PN: 99511-30-HH
Battery 11.1V Lithium-ion

PN: 73838019-HH
Hirose 6 to Hirose 6 pin



SPS and UTS Accessories

A N
'.‘--;f’*\
‘i :}
i [
Yy \ t‘"“‘

PN: 90553-TR-HH  PN: 571126286-HH
Tri-Max Tripod Bipod

PN: 55201-01
2m Range Pole

i\
PN;::25200-00

Telescopic Pole

PN: 78607007-HH
Tribrach w/o optical
plummet

PN: 58002007-HH
Tribrach w/ optical plummet

PN: 12180-HH

Tribrach to 5/8 adapter

PN: 58024007-HH
Traverse Prism

AN

PN: 58128001-HH
360 Prism

SITECH

)
&

PN: 55150-10
Target-Prism 2.5mm

PN: MT1000-HH
MultiTrack Target

PN: 73836019-HH
Car Battery Cable



GCS Components SITECH

PN: 82162-11
Carrying Case

PN: 311-4862
MS9XX Dual
Strain Relief Coil
Cable

MS996 Receiver

PN: CB460

PN: 0395-9450 Control Box

Single Strain
Relief Coil Cable

PN: 57784-81
Electric Mast Adapter

PN: 0794-3220
Control Box Mount

SITECH CENTRAL



SITECH

Earthworks Components

PN: 82167
Carrying Case

. MS976 Receiver

PN: 0395-9450 .

MS9XX Single PN: 311-4862

Strain Relief Coil ——. MSQ.XX DL.'aI .

Cable Strain Relief Coil
Cable

PN: 95520-10

GS520 Sensor

Module EC520 Controller

TD520 Display or
TD510 Display

PN: 112411-04
Handle Lock

v

SITECH CENTRAL



MS99X Bracket Assembly

iy

I

"-|...‘.

T~

PN: 52070-00
Bracket Assembly

SITECH CENTRAL

SITECH

PN: 51536 Spacer, 19mm OD x10.5ID x 6 TK
PN: 51086 WSHR, FLT, M10, 20mm OD SSTL
PN: 51087 WSHR, LK, Split, M10 SSTL

PN: 50954 Handle, M10 x 35 ADJ. Black



SITECH

MS97X Bracket Assembly

PN: 84071-00 >
Bracket Assembly

PN: 8209-4120
Cap Screw, M10X20MM

SITECH CENTRAL




SITECH

Electric Mast Mounts

PN: 003238
Shock Mount Bushings

‘ PN: 0367-3080
\ Mast Adapter Bolt=M12 -1.75 X 70mm

Washer = M12 X 2.5mm

PN: 0790-4241

EIN: ItEI'\MI;IIIS ¢ ’l*f"qo*q‘ ~— Mast Riser
ectric Mas
PN: 0793-3350 EM400
10 — 10 Coil Cord
& i . | Ay - D .
PN: M4 4= | |1=(r;1. 165(():44_1|5(-;o3(:JI EM410
Shock Mount — - oil Cor
| 5 M\ T PN: 03120990
- \ ' 6 — 6 Coil Cord

Mast Mounts- ‘ £
0791-1740- Trimble t A < PN: 0794-1080

0791-1741- CAT b \ Sideshift Block

Bolt = 3/4-10 X 2” GRD 8 Bolt =5/8-11 X1 1/4” GRD 8

Washer = 3/4” X.78 X1.42 GRD 8 Washer = 5//8-11 1.75 X .10
Nylon Nut = 5/8-11

SITECH CENTRAL



SITECH

Fixed Mast Components

|‘ Mast Part Numbers:
81069-00- Trimble- Aluminum

o 81069-10- Trimble- Steel

i 81069-20- CAT- Steel

5 81069-30- CAT- Aluminum

Bolt=.75-16 X 2 GD8
Washer = 3/4” X 1.27 X 19

PN: 71100-00
Angled Mast Riser

Knuckle Part Numbers:
0791-1740 — Trimble Yellow
0791-1741- CAT Yellow

SITECH CENTRAL



SITECH

SNR930 Radio - 900 MHz

PN: 66540-10
900/2400 Antenna

SITECH CENTRAL




SITECH

SNR934 Radio - 900MHz + 2.4 GHz

PN: 66540-10 PN: 66540-10
900/2400 Antenna _____ . 900/2400 Antenna
" g—

< I

SITECH CENTRAL




SITECH

SNR430 Radio - 403-473 MHz

PN: 44085-60
410-470 Antenna

SITECH CENTRAL




SITECH

SNR434 Radio - 403-473 MHz + 2.4 GHz

PN: 66540-10
900/2400 Antenna

PN: 44085-60
410-470 Antenna

SITECH CENTRAL




SITECH

Laser Components

PN:82198 —
Carrying Case

PN: LR410
Laser Receiver

PN: LR410
Laser Receiver

PN: 0793-3350
10 — 10 Coil Cord

PN: 0793-3350
10 - 10 Coil Cord

PN: 0312-0990
6 — 6 Coil Cord

PN: 0312-0990
6 - 6 Coil Cord

SITECH CENTRAL




Sonic Tracer Components

PN: 0790-8900
Tracer Tube

SITECH

PN: ST400
Sonic Tracer PN: 0355-9960

Base Tracer Clamp

Full Add-On Kit: 0395-0880

S Clamps with hardware: 0355-9600S

SITECH CENTRAL

PN: 0794-2350
6 — 10 Coil Cord

<— PN: 0355-8550
Tracer Arm



GCP CHARGERS SITECH

PN: GCP14
2 BAY ROVER BATTERY
CHARGER ONLY

PN: GCP13
ROVER BATTERY

PN: GCP96 PN: GCPO7
4 BAY ROVER/UTS 2 BAY ROVER BATTERY

BATTERY CHARGER CHARGER W/ 2 BATTERIES

PN: GCP16
4 BAY ROVER BATTERY
CHARGER ONLY

|
=

PN: GCP15

2 BAY ROVER BATTERY
VEHICLE CHARGER
(CABLE ONLY)

PN: GCP48 PN: GCP20
4 BAY UTS BATTERY 4 BAY ROVER BATTERY
CHARGER CHARGER W/ 4 BATTERIES

SITECH CENTRAL



GCP ACCESSORIES

i
iy

PN: GCP44
ROVER QUICKLOCK

PN: GCP04
MS995 RATCHET
HANDLE

PN: GCP09
MS975 RATCHET
HANDLE

SITECH CENTRAL

PN: GCP27
TSC7 PROTECTIVE
CASE

PN: GCP42
TSC7 RANGE POLE
BRACKET

SITECH

PN: GCP33
T7 PROTECTIVE
CASE

PN: GCP80
TD520/540
PROTECTIVE CASE

PN: GCP45
T7 RANGE POLE
BRACKET

PN: GCP83
T100 RANGE POLE
BRACKET



	TRIMBLE COMPONENT SHEETS
	SPS855 Base Station Components
	SPS986/R780 Rover Components
	R750 Base Station Components
	SPS Case Options
	TSC7 Controller Components
	T7 Controller 
	T10 Controller Components
	UTS Components
	UTS Power Components- SPS1000 KIT
	SPS and UTS Accessories
	GCS Components
	Earthworks Components
	MS99X Bracket Assembly
	MS97X Bracket Assembly
	Electric Mast Mounts
	Fixed Mast Components
	SNR930 Radio - 900 MHz
	SNR934 Radio - 900MHz + 2.4 GHz
	SNR430 Radio - 403-473 MHz
	SNR434 Radio - 403-473 MHz + 2.4 GHz
	Laser Components
	Sonic Tracer Components
	GCP CHARGERS
	GCP ACCESSORIES

